
# python.py

001| def conversion_deci_binaire(n):
002|     if n>1:
003|         conversion_deci_binaire(n // 2)
004|     print(n % 2, end='')
005| 
006| 
007| nombre=int(input("Nombre à convertir"))
008| base=int(input("Base de ce nombre"))
009| convert=int(input("Dans quelle base veux tu la convertir"))
010| if base==10:
011|     if convert==2:
012|         conversion_deci_binaire(nombre)
013|     elif convert==16:
014|         intact = nombre
015|         hexadecimal = ''
016|         dictionary = {1:'1',2:'2',3:'3',4:'4',5:'5',6:'6',7:'7',8:'8',9:'9',10:'A',11:'B',
12:'C',13:'D',14:'E',15:'F'}
017| 
018|         while(nombre!=0):
019|             c = nombre%16
020|             hexadecimal =  dictionary[c] + hexadecimal
021|             nombre = int(nombre/16)
022|         print("(",hexadecimal,")16")
023|     else:
024|         print("erreur!")
025|         #ici, je voudrait retourner a la ligne 9
026|         
027| 
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097| 
098| 
099| 
100| 
101| ''''listehexa=["0","1","2","3","4","5","6","7","8","9","A","B","C","D","E","F"]
102|
listebinaire=["0000","0001","0010","0011","0100","0101","0110","0111","1000","1001","1010","1011",
"1100","1101","1110","1111"]
103| listedeci=["0","1","2","3","4","5","6","7","8","9"]'''
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